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class web {
public static void main(String[] args) {
Int num;
num = 3;

System.out.printin(num);
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. e REFEZ=M e
E.”n%ﬁﬂ"]%&‘?ﬁﬂ ( E{ﬂ:bits ) $E1§|J
B NE: 127
byte  I7oEE Bx/)\E: -128 8 bytea=0
-128 ~ +127
B XN1E: 32767
short FEEEE] E/|\VEB: -32768 16 shorta =0
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int =2 B /)\VE: -2147483648 32 Inta=0
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byte %d System.out.printf("%d",a)
short %d System.out.printf("%d",a)
int %d System.out.printf("%d",a)
long %d System.out.printf("%d",a)
float %f System.out.printf("%f",a)
double %f System.out.printf("%f",a)
0 TR ig = J\E2 i
char %c, %C System.out.printf("%c",a) ;’Z i?%i%;_g ;j;%%i
(o X s W
9 T~ F /g
boolean %b, %B System.out.printf("%b",a) QEE;E%;%E?&%%{:&E)
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class web{
public static void main(String[] args) {
float num = 26.5f;

System.out.printf( , Num);

/_—21:
System.out.printf( I\n" num); ﬂlﬁm
} 2 F3EFE : 26.500000
} — 4 ¢ 26.50
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class web{
public static void main(String[] args) {

chara=j; ZIE—@ " java ' BEER
charb="a" 1 23 BIEERES 4 74
charc="v  BYRHENER 4R E

’ —TE2EERN ?
chard="a’;
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System.out.printf( |
} q

,| a, b, cd |);

}
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Qs web{ class web({

public static void main(String[] args) { public static void main(String[] args) {

chara=";
Char b = 'al,' Strlng S = ”java”,'
charc="v';

chard="a’;

System.out.printf(" %c%c%c%c \n", a, b, c,d); System.out.printf(" \n",);
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class web{
public static void main(String[] args) {
String s = Java; . Strmg B3 char A—1% - char
System.out.printf( , S); S Java ME ARSI RIEE |
} - == v
} String E—E—REHFESEX
. / Z(char) W LEM#IH) |
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o String BUEIHAR NS %s
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char FIT EREEE  %c, %BC  FIERERAESERRE char WE—EFEE2/NE

String F&g TERMWH) %s AIRERESERIME  String WE—EFEZ2KXE




